o
[N

< o cot(y) >

...............................

<0 > (rad)
o
o [
[ [¢)]

PPN U | U P 2 VU O SN NP Y. O 1| DO

T
|
N

3 =2 -1 0 1 2 3 092 1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

—s=— DQM_V0001_R000000001__Global__CMSSW_original

—e— DQM_V0001_R000000001__Global__CMSSW_cleaner
100 T " T " " = 100

g - : : : g - :
= 8OE( il ] Py R I N A A 1
2 eof{i|l-I|- ; 3
g E ; : : s :
v 40 e i+ \ -
20F{{{it 4 : ;
E Lt B " : :
oFHfi § : '; 3
~20f- A LTkt
—40F : ,
-60[- r ,.
-80F —8OF- - -3k
o‘l@O:"'I""I""I""I""I"" o_l@c:|||||||||||||||||||||||||||||
g f g
x X o [
1 1_—
L R 1 2 3 R R 1 2 3

TP n (PCA- to beamline) TP n (PCA- to beamline)

<opyp, > ()

Ratio

2 -1 0 1 2 3
TP n (PCA to beamline)

[TTTT



	Contents
	Page 1


